Sr

10

1"

12

13

14

15

Questions

€ 55 Josln (e 1S S 58 ol

e S el "' s Jali

by ol el (la o 81 g (e S i i

2 B S el S i el

ol LS el 555 S peld oS

S5 1y e g oS g ppaills Lagan

o S G s S Es

= G5 538 ey (S (o ppaila Jada oo S RSl

€ o das S seld S Maea M alad sl

"giéghﬁé );LSUS"“"V,LA@_LA;

JEYCRY-PSC 5 O QU el Maeal s el

§ ol S g (S )

SLS 1oy g Okl kb (€ 3 (et

COowP» DOW P UOWP UOWP UOUP UOWP UOWP UOWP UOWP U0Wr DOmP U0UP U0UP UOmP 00w

Answers Choice

A S s d)
8 slas
K s
8 ol

onaills Jags
s s
ol lal
sl

Cuna J gual

Ciany Jgual
3% dyeal

ol Lga
S
ol
S LY e

S s S
BLOSPE

il laal

ol e

1900
1885
1876
1800

i 1S S
A S (S Ga
1S a0

A e B
Al 5 iy
By AEg W
e ol dea
sopailla Lga
M e s

ol sl
e cpall dis
oaaills s
M mde s

i e
ol Jags
il sl
Ju) ke

e p R 52 m
e SR
e Sl

U G

o) s
. LSJUI
ok






